Informational Report for the February 20, 2018, Board of Trustees Meeting

		100 100 kg	1000	New				urly		Ma	ıximum	Assign	Assign
Last Name	First Name	MI	Site	Emp to District	Duttes	Division	Ra	PER CONTRACTOR	Maximum	13.33	ount	Beg. Date	End Date
Lastitaine	1 /i St italise	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		Diguire		. The second sec	1						
Chabot College	ligar ingga	tradit											
.		' '			Provide services for the Resource Family		İ						
Almaraz	Tyra	H.	Chabot	Yes	Approval (RFA) program	Social Sciences	\$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
			1		Provide services for the Foster and Kinship Care					İ			
Almaraz	Tyra	Н.	Chabot	Yes	Education (FKCE) program	Social Sciences	\$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
			_		Provide services for the Resource Family								
Alvarez	Diana	A.	Chabot	Yes	Approval (RFA) program	Social Sciences	\$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
					Provide services for the Foster and Kinship Care		-						
Alvarez	Diana	Α.	Chabot	Yes	Education (FKCE) program	Social Sciences	\$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
				<u> </u>		Arts, Humanities, and							
Ballew	Tracy	1.	Chabot	No	Provide services for the Performing Arts Center	Social Sciences	\$	16.00	100	\$	1,600.00	1/1/2018	6/30/2018
	17.00	-	<u>! </u>	7	Provide services to parents who attend training								
				1	classes through the Foster and Kinship Care		i						
Brown	Clydelle	(nmi)	Chabot	No	Education (FKCE) program	Social Sciences	\$	18.00	200	\$	3,600.00	1/1/2018	6/30/2018
	Cijacie	(,			Maintain and enhance learning, and attend to	Applied Technology							
Cameron	James	P.	Chabot	No	safety issues in welding lab	and Business	\$	20.00	100	\$	2,000.00	1/17/2018	6/30/2018
Cumeron	3011103				Provide services for the Resource Family		1						}
Cockerham	Cherae	M.	Chabot	Yes	Approval (RFA) program	Social Sciences	\$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
COUNCETTION	Circiae			11	Provide services for the Foster and Kinship Care		Ė						
Cockerham	Cherae	M.	Chabot	Yes	Education (FKCE) program	Social Sciences	\$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
COCKCITIANI	Cricrae		Citabot	1	Provides services for the California Early		Ť				///	:	
Conterno	Francesca	C.	Chabot	No	Childhood Mentor program	Social Sciences	Ś	25.00	30	\$	750.00	1/15/2018	6/30/2018
Conterno	Trancesca	ļ~	Gradot		Conduct and make presentation at meetings for		Ė			Ė		İ	
					Mentor Teachers, Director Mentos, and/or								
Conterno	Francesca	C.	Chabot	No	community directors	Social Sciences	Š	44.00	10	\$	440.00	1/15/2018	6/30/2018
Conterno	Trancesca	<u>.</u>	Chabot	110	Provide services for the Resource Family		: *			1			
Faanunu	Lina	8/1 \A/	Chabot	Yes	Approval (RFA) program	Social Sciences	Ś	50.00	75	\$	3,750.00	2/1/2018	6/30/2018
I dallullu	Lilla	101. 00.	; CHUBBE	103	Provide services for the Foster and Kinship Care		十"		:	† - -	,		
Faanunu	Lina	NA NA	Chabot	Yes	Education (FKCE) program	Social Sciences	Ś	50.00	75	Ś	3,750.00	2/1/2018	6/30/2018
raanunu	Lilla	101. 00.	Chabot	163	Education (FREE) program	Arts, Humanities, and	+		+	Ť			
Grantham	Carl	1.	Chabot	No	Provide services for the Performing Arts Center	Social Sciences	s	16.00	200	\$	3,200.00	1/1/2018	6/30/2018
Grandialli	Cuil	3.	: CHUDOC	1.10	Provides services for the California Early		- r			ΙĖ	•	<u> </u>	
Gutierrez	Ana	A.	Chabot	No	Childhood Mentor program	Social Sciences	Ś	25.00	125	Ś	3,125.00	1/15/2018	6/30/2018
Gutterrez	A I I I	ļ. —	CHADOL	1,10	Provide services to ensure various off-site child		+			Ť		, ,	1
Harrall	Dorothea	(nmi)	Chabot	No	care facilities are adequately set up	Social Sciences	\$	22.00	200	Ś	4,400.00	1/2/2018	6/30/2018
Harrell	роготпеа	[(nmi)	CHapor	TIAO	care racincies are adequately set up	- Joeldi Jelefres	٠, ٧	22.00	200	_ Ƴ	1,100.00	1, 2, 2020	0,00,000

Page 1 of 5

Informational Report for the February 20, 2018, Board of Trustees Meeting

				New Emp to		ila jiji ku		urly		Maximum		Assign /	Assign
Last Name	First Name	MI	Site	District	Dutios	Division	Rai	Talesto area	Maximum	Last.	and representation of the	EU y da la cometa y California (End Date
Lastivame	First names	3711	Dire	District	Kanto in the administration of the property of the control of the	DINISION PROPERTY OF THE PROPERTY OF	4 1 1 1 1 1	3 Marie 1949 1949	TOTAL STATE OF STATE		New York (1997)		
	İ	l			Provide services to parents who attend training		İ						
					classes through the Foster and Kinship Care								
Harrell	Dorothea	(nmi)	Chabot	No	Education (FKCE) program	Social Sciences	\$	22.00	200	\$	4,400.00	1/1/2018	6/30/2018
		<u> </u>				Health, Kinesiology,				i			
Haslam	Julie	A.	Chabot	No	Provide services for the Nursing simulation lab	and Athletics	\$	75.00	50	\$	3,750.00	1/16/2018	6/30/2018
				1	Provides Director services for the California Early								
Hodsdon	Adrienne	M.	Chabot	No	Childhood Mentor program	Social Sciences	\$	25.00	25	\$	625.00	1/15/2018	6/30/2018
			:		Provide services for the Resource Family	1							
1	i				Approval (RFA) and Kinship Care Education		١.						6 (20 (2012)
Jones-Rasberry	Lois	E.	Chabot	No	(FKCE) programs	Social Sciences	\$	75.00	25	\$	1,875.00	1/2/2018	6/30/2018
				1	Provide coordination services for the Resource			75.00	350	,	40 750 00	1/1/2018	6/20/2010
Jones-Rasberry	Lois	E	Chabot	No	Family Approval (RFA) program Provide coordination services for the Foster and	Social Sciences	>	75.00	250	- > -	18,750.00	1/1/2018	6/30/2018
_ ,	İ	_	G. 1			Social Sciences	Ś	75.00	250	, ا	18,750.00	1/1/2018	6/30/2018
Jones-Rasberry	Lois	E.	Chabot	No	Kinship Care Education (FKCE) program Provide services for the Resource Family	Social Sciences	ې :	75.00	230	٦	16,730.00	1/1/2018	0/30/2018
1	Calleria	_	Chabot	Yes	Approval (RFA) program	Social Sciences	٠	65.00	75	۲,	4,875.00	2/1/2018	6/30/2018
Joyner	Sylvia	D	Спарос	162	Provide services for the Foster and Kinship Care	Jocial Sciences	۲.	03.00	13	. Y.	4,010.00	2, 1, 2010	0,00,2020
Joyner	Sylvia	D.	Chabot	Yes	Education (FKCE) program	Social Sciences	\$	65.00	75	Š	4,875.00	2/1/2018	6/30/2018
Joynei	Sylvia	ļ	Chabot		Eddeddor (FREE) program	Arts, Humanities, and	-				.,		
Kollias	Catherine	D.	Chabot	No	Provide services for the Performing Arts Center	Social Sciences	\$	16.00	50	\$	800.00	1/1/2018	6/30/2018
The state of the s	Cocine	1	1	:		Arts, Humanities, and							
Montgomery	Jasmine	T.	Chabot	∶No	Provide services for the Performing Arts Center	Social Sciences	\$	16.00	100	\$	1,600.00	1/1/2018	6/30/2018
, , , , , , , , , , , , , , , , , , , ,				-1	Provide services for the Resource Family								
Moses	Kim	R.	Chabot	Yes	Approval (RFA) program	Social Sciences	\$	50.00	75	\$	3,750.00	2/1/2018	6/30/2018
					Provide services for the Foster and Kinship Care								
Moses	Kim	R.	Chabot	Yes	Education (FKCE) program	Social Sciences	\$	50.00	75	\$	3,750.00	2/1/2018	6/30/2018
				1	Provide services for the Resource Family		١.			١.			_,
Murphy	McKenna	L.	Chabot	Yes	Approval (RFA) program	Social Sciences	\$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
'					Provide services for the Foster and Kinship Care						4.075.00	2/4/2040	6/20/2010
Murphy	McKenna	L.	Chabot	Yes	Education (FKCE) program	Social Sciences	<u>.</u> \$	65.00	75	\$	4,875.00	2/1/2018	6/30/2018
				1	Provides Director services for the California Early	C 116:		25.00	100	,	2.750.00	1/15/2018	6/30/2018
Nattrass	Karen	S	Chabot	No	Childhood Mentor program Provide services for the Resource Family	Social Sciences	>	25.00	120	5	3,750.00	1/15/2018	0/30/2018
				1	Approval (RFA); Foster and Kinship Care				:			-	
				:	Education (FKCE) , and Community Action							:	
0	D	.	Chahat	No	Outreach to Infants (CARI) programs	Social Sciences	ا د	100.00	75	\$	7,500.00	1/22/2018	6/30/2018
Orviss	Donna	j L.	Chabot	No	Outreach to infants (CAN) programs	Social Sciences	1.7	T00.00	1	٦	7,300.00	1/22/2010	3/30/2010

Page 2 of 5

Informational Report for the February 20, 2018, Board of Trustees Meeting

				New Emp to			Нο	urly		Ma	ximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Ra	1.00	Maximum		handalanga ka		End Date
					Provide training services for the Resource Family		١.					2 (2 (2 2 2 2	5 /20 /2012
Orviss	Donna	L.	Chabot		Approval (RFA) program	Social Sciences	.	100.00	75	. ۶	7,500.00	1/1/2018	6/30/2018
					Provide training services for the Foster and		<u>ـ</u> ـــــــــــــــــــــــــــــــــــ	400.00	75	,	7.500.00	1/1/2010	6/20/2010
Orviss	Donna	L.	Chabot		Kinship Care Education (FKCE) program	Social Sciences	ĮŞ	100.00	/5	Ş.,	7,500.00	1/1/2018	6/30/2018
		l			Provide services for the Resource Family		_ ا	ce 00	75	_ ا	4.075.00	2/1/2010	C /20 /2018
Padilla-Michel	Liliana	(nmi)	Chabot		Approval (RFA) program	Social Sciences	\$	65.00	75	>_	4,875.00	2/1/2018	6/30/2018
	1	l			Provide services for the Foster and Kinship Care		۰	c= 00	7.5	,	4.075.00	2/4/2010	6/20/2018
Padilla-Michel	Liliana	(nmi)	Chabot	Yes	Education (FKCE) program	Social Sciences	\	65.00	75	۶	4,875.00	2/1/2018	6/30/2018
			l			Applied Technology	۱,	75.00	100	ي ا	7.500.00	1/1/2010	6/30/2018
Pastore	Mary	E.	Chabot	-	Provide services for Fire Technology classes	and Business		75.00	100		7,500.00	1/1/2018	5/31/2018
Perez Tejeda	Sandra	J.	Chabot		Provide services for the TV Studio Provide facilitation services for Early Childhood	Arts and Humanities	\$	22.00	150	۶.	3,300.00	1/29/2018	5/31/2018
									!				
					Mentor teachers, director mentors, and/or			44.00	10	_ ا	440.00	1/15/2018	6/30/2018
Reno	Laura	Α.	Chabot		community directors Provides Coordinator services for the California	Social Sciences	: > :	44.00	10	۶	440.00	1/15/2010	6/30/2018
						A - 1 : - C :		F0.00	00	۸,	4,000.00	1/15/2010	6/30/2018
Reno	Laura	Α	Chabot	No	Early Childhood Mentor program	Academic Services Arts, Humanities, and	` >	50.00	80	\	4,000.00	1/15/2018	6/30/2018
		, ,,			S I S S S S S S S S S S S S S S S S S S	1 '	_	17.00	200	ړ	3,400.00	1/1/2018	6/30/2018
Rukiya	Isoke	(nmi)	Chabot		Provide services for the Performing Arts Center	Social Sciences	1-3-	17.00	200	Ą	3,400.00	1/1/2018	0/30/2018
					Provide services for the Resource Family	C = -1-1 C=1	ے ا	EO 00	75	٠,	2 750 00	2/1/2018	6/30/2018
Saucier	Amy	M	Chabot		Approval (RFA) program Provide services for the Foster and Kinship Care	Social Sciences	\	50.00	/5	\$	3,750.00	2/1/2018	0/30/2018
						Ci-1 C-1	ے ا	50.00	75		3,750.00	2/1/2018	6/30/2018
Saucier	Amy	M	Chabot	<u> </u>	Education (FKCE) program Provides services for the California Early	Social Sciences	۶	50.00	/3	Ş	5,730.00	2/1/2018	0/30/2018
_	_		61 .		•	C = -i = 1 C = i =	ے ا	35.00	30	ے ا	750.00	1/15/2018	6/30/2018
Turner	Dayna	ļL	Chabot		Childhood Mentor program	Social Sciences	-	25.00	30	Ş	750.00	1/13/2010	0/30/2018
			, , ,		Provide services for the Resource Family	C:- C-:	ے ا	50.00	75	ے ا	3,750.00	2/1/2018	6/30/2018
Williams	Leslie	М	Chabot		Approval (RFA) program Provide services for the Foster and Kinship Care	Social Sciences	Ş	50.00	/5	٦	3,730.00	2/1/2016	0/30/2018
	, ,,		GI L.		-	Social Sciences	ے ا	50.00	70	\$	3,750.00	2/1/2018	6/30/2018
Williams	Leslie	M.	Chabot	Yes	Education (FKCE) program	Social Sciences	۶	30.00	/3	۶	3,730.00	2/1/2016	0/30/2018
Las Positas College	li, niji gara	1,	Ι.,		ing the state of t		l	*		l		l _{e de} esta	
Las Positas College		ì	1			Computing, Applied			Ĺ		•		
					Provide services for the Early Childhood Mentor	Technology, and Social				ļ			
Costello-Chevis	Margaret	M.	Las Positas	!	Program	Sciences	Š	50.00	10	\$	500.00	1/15/2018	6/30/2018
COSTERIO-CHEVIS	iviaigalet	1171,	Las I VSILas	110	rogram	Computing, Applied	<u>~</u>	55,00		~	230.00		-, - 3,
					Provide services for the Early Childhood Mentor	Technology, and Social			!			1	!
Contono	Janice	M.	Las Positas		Program	Sciences	4	50.00	10	\$	500.00	1/15/2018	6/30/2018
Fonteno	hanice	į IVI.	Fas LOSIEGS	INO	rrogram	Deletites	. Y	30.00		_ ~	300.00	, -0, -010	0,00,2010

 $[\]ensuremath{^*}$ Weekly hiring limitations are to be monitored by the hiring manager $\ensuremath{^*}$

Informational Report for the February 20, 2018, Board of Trustees Meeting

Last Name	First Name	Mi.	Site	New Emp to District	Duties :	Division	Ho Rat	urly :e	Maximum		aximum nount	A SAN TERROR OF THE PERSON OF THE	Assign End Date
						Math, Science,							
					Provide assistance for Emergency Medical	Engineering, and							
Henshaw	Samantha	D.	Las Positas	No	Services classes	Public Safety	\$	15.00	4	2 \$	630.00	2/1/2018	5/31/2018
TICIISTIAW	Samuricia	·	Eug i Ositus	1110	00144663 0143563	Math, Science,	1		<u> </u>	Ť			
					Provide skills assistance to the Emergency	Engineering, and							
Hoffman	Samuel	M.	Las Positas	Yes	Medical Services program	Public Safety	\$	30.00	8) \$	2,400.00	1/16/2018	5/31/2018
						Math, Science,							
					Provide coordination for the Emergency Medical	Engineering, and							
McClendon	Wendy	L	Las Positas	No	Services program	Public Safety	\$	30.00	3	6 \$	1,080.00	11/22/2017	12/8/2017
			į			Math, Science,							
					Provide coordination for the Emergency Medical	Engineering, and	٠,	50.00	_	ے ا	2 100 00	1/16/2018	5/31/2018
McClendon	Wendy	_L.	Las Positas	No	Services program	Public Safety Math, Science,	>	60.00		3 \$	3,180.00	1/16/2018	3/31/2018
					Provide skills assistance to the Emergency	Engineering, and						•	
D - :	8		las Dasitas	Vos	Medical Services program	Public Safety	ć	30.00	1	8 \$	1,440.00	1/16/2018	5/31/2018
Reisman	Anna	L.	Las Positas	Yes	Provides Director services for the California Early	r ubile Safety	, ,	_30.00_	1	~ · X	1,440.00	1/10/2010	3,31,1013
Reno	Laura	A.	Las Positas	No	Childhood Mentor program	Academic Services	İs	25.00	2	5 \$	625.00	1/15/2018	6/30/2018
Reno	Laura		Edg 1 Ositus		ermanod mentor program		1		<u> </u>	1		† · · · · · · · · · · · · · · · · · · ·	
					Provide one-on-one academic support								
Rivzi	Syed-Taha	H.	Las Positas	No	intervention for veterans pursuing STEM majors	Enrollment Services	\$	35.00	30	0 \$	10,500.00	2/1/2018	6/30/2018
					Design and desktop publish Summer and Fall								
Rothman	Cheryl	A.	Las Positas	No	2018 LPC Schedule of Classes	Enrollment Services	\$	25.00	12	0 \$	3,000.00	1/1/2018	6/30/2018
						Math, Science,				İ			
					Provide coordination for the Emergency Medical	Engineering, and	١.						/ /
Sant	Stuart	E.	Las Positas	No	Services program	Public Safety	\$	30.00	1	4 \$	420.00	12/16/2017	12/31/2017
						Business, Health,							
					Providing sports content/news for the Athletics	Athletics, and Work		20.00	-	ہ ا	4 000 00	10/22/2017	12/21/2017
Whittenburg	Jordan	J.	Las Positas	No	website	Experience	>	20.00	5	0 \$	1,000.00	10/23/2017	12/31/2017
Las Positas College -	Community Ed	: ucation								1			
	Chatanhan	_	Las Positas	No	Teach CPR and Safety classes	Community Education	4	30.00	10	0 S	3,000.00	1/2/2018	6/30/2018
Eberle	Christopher	: ၁ .	Las FUSILAS	110	Teach of it and safety classes	Community Education	1	50.00		- -	5,000.00		
Cefalo	Diana	L.	Las Positas	No	Teach music classes	Community Education	\$	30.00	5	0 \$	1,500.00	1/15/2018	6/30/2018
Craighead	Jason	В.	Las Positas	: [:] No	Teach physical activity classes	Community Education	\$	30.00	5	0 \$	1,500.00	3/15/2018	6/30/2018

Informational Report for the February 20, 2018, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	PERSONAL ASSESSMENT OF THE	THE RESERVE OF THE PERSON OF T	Assign End Date
Sapsford	Paul	(nmi)	Las Positas	No	Teach physical activity classes	Community Education	\$ 30.00	50	\$ 1,500.00	1/15/2018	6/30/2018